48 BE MRR FEUT (A9 2573F)

Chel: ME, &, %, $/kg

~o ey 20123 48 (2 d) SUE(EE) 2012 4 (5Al) sa=(FA) TZHIHEFA)
= S&t = ST = ST = =2 20114 | 20124
A 1,375,892 236,103 -7.3 0.3 5,028,329 893,635 -2.5 -0.1 5.76 5.63
1 |5= 240,128 27,960 -15.6| -16.0 838,100 109,102 -8.0 -8.1 7.67 7.68
2 |HEY 182,210 27,2441 -9.8 -6.2 628,889 97,821 -0.9 0.3 6.50 6.43
3 |o|= 123,689 22,706 8.5 20.6 458,290 85,261 10.1 16.3 5.68 5.38
4 |4l Alof 122,195 16,336] -9.4 8.3 474,773 61,213 2.7 9.8 8.30 7.76
5 €& 69,515 7,858] -8.7| -12.4 283,487 33,344 -2.8 -8.9 7.97 8.50
6 |22 65,295 6,024 —22.7| -17.3 210,736 20,164 | —23.4 | -22.5 10.57 10.45
7 |ot&olo|zlE AE 37,199 5,118] -9.7 -7.0 131,087 17,635 | -20.0 | -24.1 7.05 7.43
8 |AFClot2t|o} 34,598 4,791] 18.8 26.6 120,338 16,601 28.7 27.1 7.16 7.25
9 |Ez|H 24,920 4,674 10.6 13.3 90,820 17,321 4.8 6.5 5.33 5.24
10 |E{7| 20,778 4,300 -17.4 -2.8 77,648 17,255 | -17.4 0.1 5.45 4.50
11 |ZEC|o} 20,231 6,416] —17.1 -1.7 86,490 25,579 3.8 9.2 3.56 3.38
12 |Ef= 20,184 4,385 2.7 15.1 84,785 19,384 24.7 34.7 4.72 4.37
13 |=¢ 19,016 4,442y -20.0| -21.4 84,550 21,458 -2.1 2.9 4.14 3.94
14 |O|Ek2|o} 18,433 4,147 1.0 41.2 67,813 15,473 -8.1 -6.5 4.46 4.38
15 |o|Zt 18,415 6,193] 59.1| 100.5 59,139 19,861 14.3 34.2 3.49 2.98
16 |=22}& 17,891 4,7011 10.7 30.9 63,355 15,692 6.7 6.9 4.05 4.04
17 |2 Alof odut 17,541 4,095 -8.7 0.7 65,453 13,810 -7.2| -21.1 4.03 4.74
18 |2h=2|H| Al 16,797 2262 -9.6| -28.6 61,599 8,452 | -11.2| -28.5 5.87 7.29
19 |ZZA 16,517 2112 11.9 24 1 61,226 8,397 20.1 35.8 8.25 7.29
20 |elC|okelx) 14,861 4,063 -85 -18.1 56,309 15,166 -0.8 -9.1 3.40 3.71
21 |HA|=Z 13,773 2,875 -2.8 10.2 46,153 9,288 -7.4| -11.4 4.76 4.97
22 |¥9= 13,192 3,032 18.2 12.4 54,959 13,522 18.7 8.4 3.71 4.06
23 |CHet 13,038 2,501 1.7 2.6 50,476 10,513 -6.4 -5.9 4.83 4.80
24 |22 o|Xx|o} 12,374 4,289 -2.8 -4.4 41,696 16,198 -3.1 0.2 2.66 2.57
25 |nie| 22t 10,972 1,922 -12.4 26.6 37,416 5,500 | -27.2| -16.2 7.83 6.80




48 =8 diwF T (¢l 2571=)

el ME, &, %, $/kg
=

~o au :ZLQJ 24 48l (e )Ek :%j.f%(%%a)t 31%1”25 48 (FA )Ek fﬁ%(%ﬁla)k TAEIHEA)
=M ke =M ke =M ke = =& 20114 | 20124
=¥ 924,865 126,458 | -15.7| -12.6 3,774,456 478,969 -6.1| -10.9 7.47 7.88
1 |5= 465,843 61,575 | -20.6 | -19.5 1,823,002 226,682 | -10.4| -13.9 7.73 8.04
2 |HEY 113,966 17,645 0.1 8.9 500,236 66,452 8.7| -4.0 6.65 7.53
3 |2z Alo} 49,551 8,529 | -19.5| -19.0 209,335 34,955 | -11.9| -23.8 5.18 5.99
4 |de 33,266 6,483 | -10.3 7.0 132,863 26,463 -9.5 4.5 5.80 5.02
5 |[o]= 32,355 2,924 -1.3 -6.3 128,473 11,279 3.0 -12.0 9.73 11.39
6 |elC|oHelxE) 31,771 6,668 | -12.9 4.3 115,586 24,702 | -23.9| -10.0 5.54 4.68
7 |O|Etz|ot 27,948 498 | -13.7 1.5 153,544 2,341 6.4 55.3 95.66 65.58
8 |ZA 18,729 167 | -14.0| -11.3 87,090 600 -3.1 3.8 155.55 | 145.19
9 |o|Qfo} 16,075 761 -3.1| -16.8 77,237 3,481 33.2| -3.8 16.03 22.19
10 |m7|AEL 15,401 4,095 | -48.3| -23.6 60,814 15,876 | -37.5| -16.5 5.12 3.83
11 |Ef= 14,254 3,161 | -16.7 11.3 57,741 10,701 5.7 19.8 6.11 5.40
12 |oiet 12,331 2,763 | -14.0 -3.4 43,943 9,767 | —20.2| -14.0 4.84 4.50
13 |2l o] x| o} 10,022 3,664 | -36.5| —-27.1 43,092 15,082 | -20.4| -16.8 2.99 2.86
IENEEEE RS 8,713 503 89| -19.7 26,925 2,043 35.5 6.2 10.33 13.18
15 |@AEz|o} 7,901 2,155 -4.7 -6.2 32,314 8,471 20.4 11.5 3.53 3.81
16 |[H= 6,639 806 25.5 53.8 23,353 2,695 20.1 24.2 8.96 8.67
17 |54 6,620 444 | -14.6| -19.1 26,756 2,291 -96| -2.9 12.53 11.68
18 |Zt=C|o} 6,207 257 80.6 81.3 25,337 1,119 | 127.5| 147.4 24.62 22.64
19 (Zz|H 5,293 341 15.7 | -16.8 22,863 1,632 36.6 16.9 11.99 14.01
20 |E7| 4,195 150 | -11.4 83.3 20,274 426 -2.0| -20.4 38.69 47.63
21 |Am el 3,598 115 | -20.7 | -69.7 13,363 629 | -29.4| -53.5 14.00 21.25
22 | A&7} 2,636 435 -46| -21.1 13,058 1,401 35.8 | —11.1 6.10 9.32
23 |82 2,574 79 20.8| -21.3 9,069 301 | —26.4| -46.1 22.07 30.10
24 |AfA 1,812 38 2.7 37.6 10,033 166 18.2 50.2 76.74 60.39
25 |Ztrict 1,646 210 | -13.2| -20.5 6,413 739 | —22.6| -35.8 7.20 8.67




